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PHILOSOPHY — MDC
Paper : MN-1
(Fundamental of Philosophy)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

1. Answer any two questions :

(2)
(b)
(c)
(d)

What are the different branches of Philosophy? Explain, in brief, any one of them. 2+3
Explain Locke’s view of substance briefly. 5
What are the three different senses of the verb ‘to know’? Show with examples. 5
Distinguish between moral and non-moral actions with suitable examples. 5

2. Answer any two questions :

(2)
(b)
(c)

(d)

Discuss the relationship among common sense, science and philosophy. 10
Explain and examine the entailment theory of causality. 7+3
What are the necessary and sufficient conditions of propositional knowledge? Discuss with

examples. 10

Explain the nature and scope of ethics. 5+5

3. Answer any three questions :

(1795)

(a)
(b)
(c)
(d)
(e)

What is an innate idea? How does Locke refute innate ideas? Discuss. 5+10
Critically discuss the rationalists’ doctrine of substance. 15
Elaborate the concepts of ‘right’, ‘duty’ and ‘virtue’ as discussed in ethics. 5+5+5
Discuss Kant’s critical theory regarding the origin of knowledge. 15
Distinguish between motive and intention. Which of these two is the object of moral judgement?

Explain. 10+5



